
page 9.....eq. (1.54)... change to: Pn jami = �mn jami
page 66.... eq. (3.92).... change to: i�hdP�dt = i�h

h�
dj�i
dt

�
h�j+ j�i

�
dh�j
dt

�i
=

[H;P�]
page 66...two lines below (3.95).....change to: "There is actually no contra-

diction because � is not an Heisenberg operator...."
page 67.... line below (3.97).... change to "Multiply (3.96) by �� on the left

and (3.97) by � on the right"
page 94....eq. (4.181)....change to L2 =

P
jk (rjpkrjpk � rjpkrkpj)

page 109...eq. (5.57)...change to: a sin�ei� � b cos� = b
page 110..line above (5.61)....change to "For example, if we take � = �=2

and � = ��=2; we obtain jy�i
page 115...line after eq. (5.102)...change to: "If the states j�i and j�i are

orthonormal and complete, then......"
Page 118...Prob 5 second line...change to: "in terms of the ensemble averages

hSiiav where...."

page 121...eq. (6.9)....change to: H = p2

2m ! H =
(p� e

cA)
2

2m � e�
page 122...eq. (6.17)....change to: h�Gj ecAG j�Gi 6= h�j ecA j�i
page 123...eq. (6.26)...change to: i�hdxidt = [xi;H]
page 127...line below (6.62)...change to: "Therefore, substituting S =(�h=2)�;we

�nd...."
page 127....eq. (6.63)�,change to : H =

�:(p� e
cA)�:(p�

e
cA)

2m = 1
2m

�
p� e

cA
�2�

e
mcS �B
page 127...eq. (6.64)...change to: �e =

e
mcS

page 127...eq. (6.65)...change to: H = p2

2m �
e

2mc� �B+
e2

2mc2A
2

page 129...eq. (6.73)...change to: H 0 = � e
mcS:

�
p
mc �

�
r
r
dVc
dr

��
page 129...eq. (6.75)...change to: H = p2

2m �
e

2mc� �B+
e

m2c2
1
r
dVc
dr (L � S) +

e2

2mc2A
2

page 134....line below eq. (7.2)...change to "where �B = e=mc:::::"
page 148...eq. (8.96)...change to � = a� 2b

page 165...eq. (8.235)...change to:
d2Rl
d�2

+
2

�

dRl
d�
+

�
�

�
� l(l + 1)

�2
� 1
4

�
Rl = 0

page 166...eq. (8.249)...change to: A0 +A1�+ :::::::+A��� + :::: = 0

page 174...eq. (9.5) second relation....change to: P = �i
r
m!�h

2

�
a� ay

�
page 175...line after eq. (9.7)...change to "where we have made use of relation

(9.3)"

page 218...eq. (12.81)....change to (the change is in the �rst term):

� �h2

2m
@
@x

h
 � @ @x �  

@ �

@x

i
� �h2

2m
@
@y

h
 � @ @y �  

@ �

@y

i
+ ie�h
mcB0x

h
 � @ @y +  

@ �

@y

i
=

i�h @
@t ( 

� )
page 208...line after eq. (12.1)...change to "As we discussed in Chapter 6,

to..."
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page 229....line after eq. (13.51)....change to: "where we have written
p
D2

= jDj :"::::
page 241....eq. (13.161)....change to: i�c2 =

�
c2
e

i�t

i

�

e�i�t+

�
i _c2e

i�t




�

 (�i�) e�i�t

page 242...eq. (13.165)...change to: c2 (t) = Ae
i[��+

p
�2+4
2]t
2 +Be

i[���
p
�2+4
2]t
2

page 242...eq. (13.166)...change to: c2 (t) = Ae�
i�t
2

�
e
i
p
�2+4
2t
2 � e

�i
p
�2+4
2t
2

�
page 247...Prob.(6) last line...change to: "If a state j (t)i at t = 0 is in the

"spin down" state in the x-direction,
�� x�(0)� ; then determine the probablitity

that at times t: > 0 it is in a state  x+(0)"

page 252...eq. (14.9)...change to: !0 = �
eB0
mc

page 263....eq. (15.11)...change to (change is in the second term on the right):
j�1(0)i = cos � j�e(0)i+ sin � j��(0)i
page 278....two lines above (16.13) ...change to: "Since

��� (0)s E
are assumed

to be......."
page 280...second line below eq. (16.28)...change to: "We notice that in the

second order term, E(2)s ; if the levels E0n and E
0
s are...."

page 285...eq. (16.61)....change to: Ylm ! (�1)mYlm

Page 286... eq (16.73).....change to: h0 jzF j 0i = �ma0
�h2



0
��� r
2 + a0

�
z2
�� 0�

page 290...eq. (16.99)....change to266664
2S 2P (m = 0) 2P (m = 1) 2P (m = �1)

2S 0 �3eE0a0 0 0
2P (m = 0) �3eE0a0 0 0 0
2P (m = 1) 0 0 0 0
2P (m = �1) 0 0 0 0

377775
page 294...line below (17.12)...change to: " where !mn =

E(0)
m �E(0)

n

�h ;and:::::"
page 295..line below (17.15)...change to "Substituting the series (17.13) in

(17.12) and....."
page 295...line below (17.18)....change to: ".......for all values of t and (17.14)

tells us....."

page 300...eq. (17.57).....change to: wfi =
Z
�fidNf =

Z
�fi� (Ef ) dEf

page 308...line above (17.117)...change to: "Since �fi equals....."

page 309...eq. (17.118)...change to : ci (t) = �i
2�

1R
�1

d! ei!t

!+
E0
i
�h �i�2

page 321...eq. (18.24)...change to: �abs = 4�2�h!ni� jhn jxj iij2 � (En � Ei � �h!)
page 321...eq. (18.25)...change to:

P
f

R
�absd! =

4�2�
�h

P
f

(Ef � Ei) jhf jxj iij2

page 322...eq. (18.27)...change to:
P
f

R
�absd! =

2�2e2

mc

page 324...eq. (18.44)..change to (see the factor
p
�):... i�hp

V

R
d3r��

�
r
�
e�iq�r

��
1p
�

�
Z
ao

� 3
2

e�
Zr
ao
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page 331...line above (18.88)...change to: "From (18.86) we obtain"
page 344...line before eq. (19.19)...change to: " The relation (19.14)...."

page 346...eq. (19.40)...change to: R = jAe2i�j2
jAj2 = 1

page 349...eq. (19.66)...change to: A0 = �
�
sin(�a) + i�k cos(�a)

�
F 0

2

page 349...eq. (19.67)...change to: B0 = �
�
sin(�a)� i�k cos(�a)

�
F 0

2

page 350...eq, (19.73)...change to tan(�0) = k
� tan(�a)

page 351...eq. (19.83)...change to: � cot(�a) = �k tan(ka)
page 360....line above (20.18)...change to: "If we express j�i as an expansion

given in (20.8) and insert it in (20.17) then...."

page 361...eq. (20.30) (see the last factor)..change to: G(+)0 (r; r0) =
R
d3k0

R
d3k00hr j�0(k0)i h�0(k0)

���� 1
�h2k2

2m �H0+i�

�����0(k00)ih�0(k00 jr0i
page 364...eq. (20.52)...change to: q2 = jkf j2 + jkij2 � 2 jkf j jkij cos �

page 373....eq. (20.124)....change to:
D
�(+)

���V Gy0V ����(+)E = D�(+) ���V � 1
E�H0�i�

�
V
����(+)E

page 373....eq. (20.125)...change to: 1
E�H0�i� =

h
P
�

1
E�H0

�
+ i�� (E �H0)

i
page 379...eq. (20.176)....change to:

R1
�1 dt0ei(Ef�Ei)t

0=�h = 2��h�(Ef � Ei)
page 450...eq. (24.2)....change to: d

2u
dx2 +

2m
�h2
(E � V (x)u = 0

page 450...eq. (24.6)...change to: d
2u
dx2 + k

2(x)u = 0

page 455...eq. (24.40)...change to:
x2R
x1

dx
�
2m
�h2
(E � V (x))

� 1
2 =

�
n+ 1

2

�
�

page 504...eq. (27.20)...change to: hn; l:mj [Lz;H] jn; l:m0i = (m�m0) hn; l:mjn; l:m0iEn =
0
page 518...eqs. (28.5) and (28.6)...change to :

J2 = (J1 + J2)
2
= J21 + J

2
2 + 2J1 � J2

= J21 + J
2
2 + J1+ J + J1� J2+ + 2J1zJ2z

3


